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52. Which of the following is the solution statement for
the inequality shown below?

-5<1-3x<10
F. -5< x<10
G. 3< x
H. -3< x<2
J. —2< x<3
K. x<-3o0orx>2



21.

Which of the following shows the solution set for the inequality 5x —1 = 9?

A | | p—>>
-2 0 2 X
8
-2 0 — X
5
! ﬁ"
-2 0 2 X
_3 0 2 X
<+ } =



47.

Which of the following defines the solution set for the
system of inequalities below?
x<6
4+2x20
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29. The inequality 6(x + 2) > 7(x — 5) is equivalent to
which of the following inequalities?

. X< =23
x<
xz 17
x< 37
x< 47
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52. Which of the following is the solution statement for
the inequality shown below?

-5<1-3x<10
F. -5< x<10
G. -3< x
H. -3< x<2
J. —2< x<3
K. x<-3o0orx>2



21. Which of the following shows the solution set for the ; | A
inequality 5z~ 129 ? W%W{’S/
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52. Which of the following is the solution statement for
the inequality shown below?

-5«<1-3x<10

-5< x<10
-3< x

-3< x<2
-2< x<3
x<-3o0rx>2

st
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47. Which of the following defines the solution set for the g / , %
system of inequalities below? ﬂm g A#7 %

4+2x20 > q
K, x5 ed : g 5/7”/
B. < 6 [ (7“4 Z%> 5
—>D, -2<x56 x> = ¥
E. 2<x<6
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48. At Brookfield High School, 55 seniors are enrolled in l Z i ;< —

the sociology class and 40 seniors are enrolled in the
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31. For a single production run, when » items are made _ ; e o ‘
and sold, a company’s profit, P dollars, can be at /’eé? S/ 3//563 0 Az, WJ&@(
modeled by P = n* = 300n — 100,000. What is the % " ZA - f "
smallest number of items that must be made and sold Co vesr i T X &p A /‘f//ﬂ 7

in order for the company not to lose money on the

irod:;:(t)ion run? )”775 // 7" &(’ﬂ C’ﬁ S—/‘—S
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24. An artist makes a profit of (500p — p*) dollars from
selling p paintings. What is the fewest number of
paintings the artist can sell to make a profit of at least
$60,000 ?

100
150
200
300
600

7



